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Instructions

All Questions arecompulsory
The Question paper consists of 2 sectious

questions of 2 marks each. Part B consists of 5questions of t
P'art A contaus 10

marks each.

There is no overall choice. Only Part question inelude

internal ehoice

PART-A* 10-20Marks)
1.Write at least two difference between NPIDA and DPDA
2. Whatdoyou mean by instantaneous deseription ofa PDA?
3.Constructa DFA to accept strings ofO's, T's 2s begning with

0 followed by odd number of T's and ending with 2
4. Write regular expression for the language having input alphabets
a and b, in which two a's do not come together
S. Which is the most restricted type of grammar?Give eason
6.ConteNt-free language closed under union. Justily the statement

7.State PumpingLemma?
8.Write S tuple definition of NFA.
9. What is Left Recursion and how it is eliminated?
10.What are the applications of TM?

PART-B
(16580Marks)

11.a)



What are the differences between Moore machine and Mealy
machine' (8Marks)

Convert the following Non-Deterministic Finite Automata

(NFA)to Deterministic Finite Automata (DFA)(8 Marks)

a,b

ii.

b b

OR
b)

Convert the given NFA with epsilon to NFA without epsílon

(8Marks)

1.

qo q1 2.Discuss the differences between NFA and DFA. (8Marks)

12.a)

Find regular expression for the following DFA using
Arden's Theorem-

i.

(8Marks)

(a2)

ii. Design a FA from given regular expression

(8Marks10+(0+ 11)0*1.

OR
b) 8MarksConvert (00+1)* 1 (0+1)to a NFA.

Discuss closure properties ofCFL.
8Marks)



Consider thegrammarG whose
productions

NIA0S
N 1A0SIS ons

areAI
S0

(8marks)
uous.

Pove that the above given grammar is a

CFG intoCNF
Convert the following

SAS
AaASJale
SbSJA|bb

(8
marks)

OR

Simplity thefollowingCFG by
preserving the

meaningoft

SXYXx
XOX
YIY

(8marks)Convert this grammar to Greibach Normal Form.SXABB
BbSiBXb

(8marks)
Aa

14. a) Construct a PDA for language L ={0"1"|n>=1,m-,
m>nt2}

OR

Construct PDA for the following L= {w€ {0,11*|N

length of w is odd)

b)

ii. DISCuss different ways to define PDA acceptatu



(N 8)

15.Construeta TM for the
language L (0"1"a"} where n-1

between RE and RC languaeiscuw
the ConpariNOn

(8+8)

OR

Analyze the languages proposed by Chomsky with the help of

CXamples.

Construct a TM machine for
cheeking the palindrome of the

string
of even length (S+8)


